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Grade 6 Reading Open-Response ltem-Specific Rubric
Guide Dogs: Question 5

Q5: Explain why being able to concentrate is important for a guide dog. Use information from
the selection to support your answer.

The item asks students to use information from the selection to explain why being able to concentrate is
an important quality of a guide dog.

Deseriptor. .

e Illegible: cannot be vead; completely crossed out / erased: not written in English
e Irrelevant content: does not attempt assigned question |
o Off topic: no relationship of written work to the question

Typical responses:
» do not attempt to answer the question (¢.g., Thave a dog.) OR
» restate the question (¢.g., Guide dogs have to concentrate.)

Response attempts to answer the question (¢.g., identifies when a guide dog needs to concentrate)
but does not indicate an understanding that being able to concentrate is an important quality of a
guide dog. Instead the response

+ answers an aspect of the guestion (e.g., They have to concentrate on their jobs.) OR

e does not tefer to the reading selection (e.g., the dog might walk into & pole) OR

¢ provides inacgurate support (¢.g., because they have to be happy).

Response indicates a partial understanding that being able to concentrate is an important quality ofa
guide dog, but does not show how the support from the selection proves it is an important quality.
Response provides
e irrelevant support from the reading selection OR
« vague support from the reading selection (e.g., it has to do its task right) OR
o limited support (e.g., could lead the owner into a dangerous situation.). -
The response usually requires the reader to connect the support to what it is intended to prove.

Response indicates an understanding that being able to concentrate is an important quality of a guide
dog and uses support from the selection, but does not fully explain why it is an important quality.
The response includes

e+ some accurate and relevant support and

s some vague or underdeveloped support.
The response requires the reader to make somé connections between the support and what it is

intended to prove.
Response indicates an understanding that being able to concentrate is an important quality of a guide
dog and provides specific and relevant support from the reading selection to explain fully why being
able to concentrate is important for a guide dog.
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Assessments of Reading, Writing and Mathematies, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Continous Text ((.mde Dogs) Question # 5

Explain why being able to concentrate is important for a guide dog. Use information from the
selection to suppotrt your answer.
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Rationale: Response is off-topic (e.9., it you didn’t have it it could get luse).
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Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Qucstion # 5
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for a guide dog. Use information from the

A Explain why being able to concentrate is important
selection to support your answer.

I 1YY A be{% . ape, Cmncenlrrn}_ailf_mwiiah\' S
o Sm'de dog Deesuse -\-he]a feed Yo Ve &“‘_.ﬁ“}'im

lgnm hﬂm o t‘,_.u{ a,nd Dove ﬁm.

Rationale: Response provides inaccurate support (€.g., they need to be healthy, and learn how

to play).
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Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 5

10

Explain why being able to concentrate is important for a guide dog. Use information from the
selection to support your answer, )
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Rationale: Response does not demonstrate an understanding that being able to concentrate is

an important quality (e.g., they have to be quiet).
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Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 3
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B4 Explain why being able to concentrata is irnportant for a goide dog. Uss information from the
selection to SUpPpOT YOUT BHESWET. ' : o
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Rationale: Response answers an aspect‘ of the question (e.g., the guide dbg can over react and

be very dangerous).
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Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question #5
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Rationale: Response indicates a partial understanding and gives vague support from the

selection (e.g., it has to do its task right).
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~ Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 5

20

s imporint for a guide dog, Use informetion from the
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selection 10 SUppolt your answer.
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Rationale: Response indicates a partial understanding that being able to concentrate is an
important quality for a guide dog with fimited support from the selection (e.g., i they weren't

concentrating they could lead their owner into danger).
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- Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 5

30

1 Explain why being able o concentratc is important for & guide dog. Use information from the
selection to Support your auswer,
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Raticnale: Response demonstrates an understanding that beir_'lg able to concentraie is an
important quality for a guide dog. Some vague support is provided (e.g., If they do not
concentrate something bad could happen). Some accurate and relevant support is provided

(2.g., because it has an important task of guiding its owner).
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" Anchor Sct and Rationales for Reading Open-Response
" Non-Continous Text (Guide Dogs) Question # 5

40

[ Explain why being able to concentrate is important for a guide dog. Use information from the
selection io support your answer.
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Rationale: Response provides specific and relevant support from the text (e.g., people don't
run into danger or walk into traffic) and indicates an understanding that baing able to

concentrate is an important quality of a guide dog.
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 Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 5

40

B§ Explain why beiog able to concentrate is imporiant for a guide dog. Use nformation from the
selection to support your answer o
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Rationale: Response indicates a clear understanding that being able to concentrate is an
important quality of a guide dog. Specific and relevant information is provided (e.g., if the dog's
attention is on something else than they are not giving their full mind to the task).

TOTAL P.12
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Grade 6 Reading Open-Response Item-Specific Rubric
Guide Dogs Question 6

Q7: Explain why a busy shopping cenire is a good training area for guide dogs. Use
information from the selection and your own ideas to support your answer,

The item asks students to use their prior knowledge and experience about busy shepping centres and
infortation from the selection about training guide dogs to explain why a busy shopping centre is a
good training area for guide dogs.

" “Deseriptor .

|
o

s [llegible: cannot be read; completely crossed out / erased, not writlen in English

e Irrelevant content: does not attempt assigned question

»  Off topic: no relationship of written work to the question

Typical responses:
« do not attempt to answer the question OR
o restate the question (e.g., A shopping centre is a good training area for guide dogs.)
Response attempts to answer the question (2.g,, identifies features of a busy shopping centre} but
does not indicate a connection between the features of a busy shopping centre and the training
requirements of a guide dog based on the selection. Instead the response

s angwers an aspect of the question (¢.g., Shopping malls have lots of noisy activity.) OR

e does not refer to the reading selection OR

e provides inaccurate support (¢.g., so they learn to bark).

Response indicates a partial undersianding of the connection between the features of a busy
shopping centre and the training requirements of a guide dog, but does not show how the support
from the selection proves the connection. Response provides
s irrelevant support from the reading selection OR
e vague support from the reading selection (e.g., 80 they see lots of different types of activities)
OR

e  limited support (&.g., so they learn to pay attention to their owner in a busy place).

The response usually requires the reader to connect the support to what it is intended to prove.

Response makes a connection between the features of a busy shopping centre and the training
requirements of a guide dog and uses support from the selection, but does not fully explain why it is
a good training area for guide dogs. The response includes

* some accurate and relevant support and

+ some vague or underdeveloped support.
The response requires the reader to make some connections between the support and what it is

intended to prove.
Response makes a connection between the features of a busy shopping mall and the training

requirements of a guide dog and provides specific and relevant support from the reading selection to
gxplain fully why a busy shopping centre is a good training area for guide dogs.

ISR_B16117_Guide Dogs_Q7
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Anchor Set and Rationales for Reading Open-Response
. Non-Continous Text (Guide Dogs) Question # 0

10

fd FExplain why a busy shopping centre is a good training area for guide dogs. Use information from the

selection and your own ideas to support your answer. ;

&M&g&ﬂ%ﬁ%@d £20 Mmnliiig vecouse.
‘\\'@ W\ W‘ﬁ\i mmr\% ) aﬂfpﬁ-{ﬂ oNe, {)\’.’(f@r"\“{") H}é“

|
|
|
L
i

e Can _(:ﬁajr <R OACETTIS S

05 _wedl,

Rationale; Response answers an aspect of the question (e.g., Shopping centres are good for
training). The support is inaccurate (e.g., The guide dog can get some exercise).
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Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 06

10

Explain why a busy shopping centre is a good training area for guide dogs. Use information from the
selection and your own ideas to support your answer.
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Rationale: Response attempts to answer the question (e.g., shopping centres and other
situations) but provides inaccurate support (e.g. start it’s first day of school).
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- Anchor Sct and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 6

20

Explain why a busy shopping cenire is a good training area for guide dogs. Use information from the
selection and your own ideas to support your answer.
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| Rationale: Response indicates a partial understanding of why a busy shopping centre Is a goad
training area with vague support from the selection (e.g., the guide dogs can have a good
chance to meet new people and nof to harm them).
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Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 6

Explain why a busy shopping centre is a good training area for guide dogs. Use information from the N
selection and your own ideas to support your answer.
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Rationale: Response indicates a partial understanding of the connection between the feaiures
of a busy shopping centre and the training requiraments of a guide dog but the support

provided is vague (e.g., the dog can get used to being around all of the people).
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~Anchor Sct and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 6
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Explain why a busy shopping centre is a good training area for guide dogs. Use information from the
selection and your own ideas to SUpport your answer. o
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Rationale: Response demonstrates an understanding of why a busy shppping cantre is a good
training area for guide dogs (e.g., Masters need to be sure that their guide dogs can remain
calm in busy areas). Response includes some vague and underdeveloped support (e.g., in

order to work as a team).
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Anchor Sct and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 6
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Expla_in why a busy shopping centre is a good training area for guide dogs. Use information from the
selection and your own ideas to support your answer,
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Rationale: Response demonstrates why a shopping area is a good training area for guide dogs
(e.g., get the dog use to being around a lot of people). Response also includes some vague
support (e.q., it is a big area). :
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Anchor Set and Rationales for Reading Open-Response
Non-Continous Text (Guide Dogs) Question # 6

40

. Explam why a busy shoppmg centre is a good training area for guide dogs Use mformahnn ﬁ-orn the
selection and your own ideas {o support your answer.

T _bhelve 4 bmﬂ;{ ‘C;j')diplf?}ﬂq ﬁgm{m e @ r:j@od #rm .
I Sy thig bﬁaduﬁm‘%’}’)@n the | 0 can giet 0 (E0DI2 nd $he
etsiode world. Ao Since o f::%amhj centre, i, Eu%v rlace the f%m

€. ?em-\f“i 10 mave sniit qr Avd Cal“e@]f\m%rm';- hﬂrmm_aLﬁhftg.
fmidey Tmm*’ffyﬂﬁ‘&‘)ﬂ/ Wa.s *H)p dmm ‘mf funf;pﬂﬂem”% ar - 2
1§ ¥hey rcin around Peagle.

Rationala: Response fully demonstrates a connection between the features of a shopping
centre and the training requirements for a guide dog (e.g., since a shopping centre is busy
place the dog can leam to move swiftly). Specific and relevant support from the selection is
provided (e.g., the dogs will remain clam around people).




MAY-29-2007 09:&8 F.11

~ Assessments of Reading, Writing and Mathématics, Junior Division
- ]

Anchor Set and Rationales for Reading Open-Response
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40

Explain why a biisy shopping centre is a good training area for guide dogs. Use information from the
selection and your own 1deas to support your answer.
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Rationale: Response provides specific and relevant support to fully explain why a busy
shopping centre is a good training area for guide dogs (e.g., there are going to be a lot of

people thers so he or she can be trained to ignore that and focus on doing his job).

TOTAL P.11
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Grade 6 Reading Open-Response Item-Specific Rubric
Scourge and Hamilton: Question 11

Q11: Explain the value of Ned Myers’s accounts of the disaster in the search for the two ships.
Use information from the selection and your own ideas to support your answer.

The itemn asks students to understand information about Ned Myers's survival and his description of the

disaster and the subsequent search for the ships by using information from the selection and their own

ideas 10 explain the value of his accounts of the disaster in searching for the ships (¢.g.,. how someone
ight use Ned’s journals ar description to find the ships). ’ '

Illegible: cannot be read; completely crossed out / erased; not written in English
Irrelevant content. does not attempt assigned question
Off topic. na relationship of written work fo the question

Typical responses:
¢ do not attempt to answer the question (e.g., It was a big disaster) OR
* restate the question (e.g., Ned Myers’s accounts are valuable.).

Response attempts to answer the question but does not indicate an understanding of the relationship
between Ned Myers’s survival and his description of the disaster and the subsequent search for the
ships, Instead the response
» answers an aspect of the quegtion (e.g., Ned describes how they sank in his journal) OR
s does not refer to the reading selection (e.g., Explorers have maps that show where sunken ships
are.} OR
» provides inaccurate support (e.g., he could show Dr, Nelson where the ships were.).

Response indicates a partial understanding of the relationship between Ned Myers's survival and his
description of the disaster and the subsequent search for the ships, but the support from the selection
does not prove the value of his accounts in searching for the ships. Response provides
» irrelevant support from the reading selection OR
 vague support from the reading selection (e.g., he told stories about the disaster so people were
curious) OR :

e limited support (e.g., his journal probably gave directions to where they sank).

The response usually requires the reader to connect the support to what it is intended to prove.

Response indicates an understanding of the relationship between Ned Myers’s survival and his

description of the disaster and the subsequent search for the ships and uses support from the

selection, but does not fully explain the value of his accounts in searching for the ships. The

response includes '

« some acenrate and relevant support (e.g., people read his accounts and were curious about the

ships so they wanted to look for them.) and

+  some vague or underdeveloped support (e.g., would have a jot information about sinking).
The response requires the reader to make some connections between the support and what it is
intended to prove.

Response indicates an understanding of the relationship between Ned Myers’s accounts of the
disaster and the subsequent search for the ships and provides specific and relevant support from the
reading selection to explain fully the value of his accounts in searching for the ships.

ISR_B16111_Scourge and Hamilton_Q6
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Anchor Set and Rationales for Reading Open-Response
Non-Narrative Text (Seourge) Question # 11
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Rationale; Response does not attempt to answer the questlon.
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11 Assessments of Reading, Writing and Mathematies, Junior Division

Anchor Sect and Rationales for Reading Open-Responsc
Non-Narrative Text (Scourge) Question # 11
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5] _Explain %he value of Ned Myers accounts of the disaster in the searoh for the two ships. Use
information from the sclection and your own ideas to support your answer.
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Rationale: Response attempts to answer the gusstion but dogs not indicate an understanding
of the value of Ned Myers' accounts of the disaster.
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11Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Narrative Text (Scourge) Question # 11

10

6 Explain the value of Ned Myers's accounts of the disastér in the search for the two ships. Use
information from the selection and your own ideas to support your answer. |
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Rationale: Response describes an aspect of ihe guestion (e.d., extremely frightening) and
does not show an understanding of the value of Ned Myers's account.
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11 Asscssments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Narrative Text (Scourge) Question # 11
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Rationale: Response indicates a partial understanding of the value of Ned Myers's account.
There is limited support provided (e.g., he was the only surviver),
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11Assessments of Reading, Writing and Mathematies, Junior Division

Anchor Set and Rationales for Reading Open-Response
Non-Narrative Text (Scourge) Question # 11

20

B Explain the value of Ned Myers's accounts of the disaster in the search for the two ships. Use
information from the selection and your own ideas to support your answer.
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Rationale: Response shows partial understanding and provides limited support (e.g., you find
out how the ships sunk and how Ned Myers fived).
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Anchor Set and Rationales for Reading Open-Response
Non-Narrative Text (Scourge) Question # 11
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ﬁxpiain the value of Ned Myers’s accounts of the disasier in the search for the two ships. Use
information from the selection and your own ideas to support your snswer,
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Rationale; Response indicates an understanding of the value of the accounts of the disaster.
There is some relevant support (e.g., Thanks fo Neds Jornal everyone knows what happened).
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11 Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
‘Non-Narrative Text (Seourge) Question # 11

30

Explain the value of Ned Myers’s accounts of the disaster in the search for the two ships. Use .
information from the selection and your own ideas to support your answer. ‘
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Rationale: Response provides some accurate and relevant support but also requires réader to
make some connections (e.g., aroused curiosily...He might have written down where the ship

was).




MAY-29-2007 09:B9 F.11

1 1Assessments of Reading, Writing and Mathematics, Junior Division

Anchor Set and Rationales for Reading Open-Response
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Rationale: Response indicates an understanding of the value of Ned Myers's account and
provides specific and relevant support (.., be able to find it easysr by reading where the

focation is).

|

TOTAL P.11
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Grade 6 Réading Open-Response Item-Specific Rubrié
S@:ourge and Hamilton: Question 12

Q12: Desctibe ways in which the Scourge and the Hamilfon might be protected from human
and environmental threats. Use information from the selection and your own ideas to support

yOur answer.

The item asks students to use information in the selection and their own ideas about the human and
environmental threats to the Scourge and the Hamilton to identify and describes ways in which the

ships can be protected.

Code: |-~
o lllegible: cannol be read; completely crossed out / erased; not written in English
I o Jrrelevant content: does not altempt assigned question
o Off topic: no relationship of written work to the question
Typical responses:
e do not attempt to answer the question (¢.g., there are many human and environmental threats)
OR.
»  restate the question (e.g., The ships might be protected.).
Response attempts to answer the question (e.g., identifies a human or environmental threat to the
10 shipg) but does not identify or describe ways in which the ships car be protected. Instead the
response '
e answers an aspect of the gquestion (e.g., the mussels are stuck to the ghip) OR
» does not refer to the reading selection (e.g., people throw garbage) OR
¢+ provides inaccurate support (s.g., they are in good condition; they can sail somewhere else)
Response indicates a partial understanding of the human and environmental threats to the Scourge
and the Hamilton based on the selection but describes ways in which the ships can be protected from
20 the human and environmental threats using: ‘ ‘
e irrelevant support from the reading selection (e.g., it is expensive to repair) OR
e vague support from the reading selection (e.g., you can build a fence around it; make it
restricted) OR
+ limited support (e.g., take them out of the water).
The response usually requires the reader to connect the support to what it ig intended to prove.
Response indicates an understanding of the human and environmental threats to the Seourge and the
Hamilion based on the selection but does not_fully describe ways in which the ships ¢an be protected
30 from the human and environmental threats. The response includes
«  some accurate and relevant support (e.g., the government could make it a restricted museum
area 5o you can only go and see the ships with permission) and
« some vague or underdeveloped support (e.g., it's 90 metres under water). ‘
The response requires the reader to make some connections between the support and what it is
intended to prove.
Response indicates an understanding of the human and environmental threats to the Scowrge and the
40 Heamilton based on the selection and provides specific and relevant support from the selection to

describe fully ways in which the ships can be protected from the human and environmental threats.

ISR_B16111_Scourge and Hamilton_Q7
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10

|
Describe ways in which the Scourge and the Hamilton might be protected from human and ’ ;
enviropmental threats. Use information from the selection and your own ideas to support your answer

The oot T 90 metres ander c.ut:ﬁ-;ﬁv’“‘
and  Ane 4 O Sellarns o |

Anfue Jr\f\ft oot L e v —\-C;:» \Oe

i

Rationale: Response attempts to answer the question using inaccurate support (e.g., they
have saliars to drive the boat for them to be safe).
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Non-Narrative Text (Scoarge) Question # 12

10

[ Describe ways in which the Scourge and the Ham:!ton mlght bc protected from human and
environmental threats. Use jnformation from the selection and your own ideas to support your answer.
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Rationale: Response attempts to answer the question but does not refer to the reading
selection (e.q., protected by oif spills, fish, sharks).
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20
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Describe ways in which the Scourge and the Hamilton might be protected from human and _;

environmental threats, Use information from the selection and your own ideas to support your answer
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Rationale: Response indicates a partial understanding of the human and environmental threats
to the ships. There is limited support (e.g., and cover the ship with something the musels don’t

like).
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20

Describe ways in which the Scourge and the Hamilton might be protected from human and
environmental threats, Use information from the selection and your own ideas to support your answer.

T}\% 4—@0\{“@@, Cfnol Yhe fo on | 7Lcm M. cﬂ\'l“b&
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Rationale: Response indicates a partial understanding of the human and environmental threats
and provides limited support (e.g., by bringing it up to the surface to preserve if).
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30

Describe ways in which the Scourge and the Hamilton might be protected from human and

environmental threats, Use information from the selection and your own ideas to support your answl:r
L.
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Rationale: Response indicates an understanding of the human and environmental threats to
the ships. Response includes some accurate and relevant support from the selection about
how the ships can be protected (e.g., there could be a law of not being able to touch the

ships... get a permit to liff the ships out of the waler).
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30

Describe ways in which the Scourge and the Hamilton might be protected from human and ™
environmental threats. Use information from the selection and your own ideas to support your answer.
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Rationale: Response includes some accurate and relevant support about how the ships can be
protected from human threats (e.g., preserve it... have police guard the ship) and some

underdeveloped support (e.g., make some type of gate).
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Describe ways in which the Scourge and the Hamilton might be protebted from human and
environmental threats. Use information from the selection and your own ideas to support your answer.
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Rationale: Response fully describes ways in which the ships can be protected from the human
and environmental threats using specific and relevant support (e.g.,robbers...could be fined.

With all the fines.. they could put them in a museum,.

TOTAL P.11
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